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Solved Examples

1. Find the 15th term of the G.P. 

Watch Video Solution

, , , ……
3
2

3

4

3

8

2. Which term of the G.P. 5,20,80,….,5120 is 1280`?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gnTnYC1OK0y0
https://dl.doubtnut.com/l/_HLXjQj1f8pq4


Watch Video Solution

3. How many terms are there in the G.P. ?

Watch Video Solution

2, 2√2, 4, ...128

4. The fifth term of a G.P. is 81 whereas its second term is

24. Find the
series and sum of its first eight terms.

Watch Video Solution

5. The seventh term of a GL.P. is 8 times the fourth term

and the term is
48. Find the G.P.

Watch Video Solution

https://dl.doubtnut.com/l/_HLXjQj1f8pq4
https://dl.doubtnut.com/l/_vCtTBPYzpCHn
https://dl.doubtnut.com/l/_RHhX1YJN3p9B
https://dl.doubtnut.com/l/_giOfGWd54mY9


Watch Video Solution

6. The first term of a G.P. is 1. The sum of the third and

fifth terms is
90. Find the common ratio of the G.P.

Watch Video Solution

7. The third term of a G.P. is 3. Find the product of its first

five terms.

Watch Video Solution

8. If the first and the nth terms of a G.P., are  and 

respectively, and if 
 is the product of the first 
 terms.

a b

P n

https://dl.doubtnut.com/l/_giOfGWd54mY9
https://dl.doubtnut.com/l/_FWkMFN3D5jXT
https://dl.doubtnut.com/l/_5cGTca5h5EUT
https://dl.doubtnut.com/l/_SP3tZsMIquiE


prove that 

Watch Video Solution

P 2 = (ab)n

9. If 
 are respectively, the pth, qth , and rth

terms of a G.P., show that

Watch Video Solution

a, b, andc

(q − r)loga + (r − p)log b + (p − q)log c = 0.

10. In a finite G.P. the product of the terms equidistant

from the
beginning and the end is always same and equal

to the product of first and
last term.

Watch Video Solution

https://dl.doubtnut.com/l/_SP3tZsMIquiE
https://dl.doubtnut.com/l/_TjDPELTv1bhe
https://dl.doubtnut.com/l/_eFg2xjunfBg7


11. If the product of three numbers in GP be 216 and their

sum is 19, then the numbers are

Watch Video Solution

12. If the continued product of three numbers in G.P. is 216

and the sum of
 their products in pairs is 156, find the

numbers.

Watch Video Solution

13. The sum of three numbers in G.P. is 21 and the sum of

their squares is
189. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_alZOm2P6bd4u
https://dl.doubtnut.com/l/_35jEhFS1y4qQ
https://dl.doubtnut.com/l/_DLQg7HbWAlPd


14. The sum of first three terms of a G.P. is and their

product is 1. Find the common ratio and the terms.

Watch Video Solution

39

10

15. Find four numbers forming a geometric progression in

which the third term is greater than the first term by 9,

and the second term is greater than the by 18.

Watch Video Solution

4th

16. A number consists of three digits which are in GP the

sum of the right hand and left hand digits exceeds twice

https://dl.doubtnut.com/l/_DLQg7HbWAlPd
https://dl.doubtnut.com/l/_zhMMk6M2IV5j
https://dl.doubtnut.com/l/_PEI7GlUnNd0D
https://dl.doubtnut.com/l/_oAGSHOp67XjU


the middle digits by 1 and the sum of the left hand and

middle digits is two thirds of the sum of the middle and

right hand digits. Find the number.

Watch Video Solution

17. In a set of four numbers, the first three are in G.P. and

the last three are in A.P. with difference 6. If the first

number is the same as the fourth, find the four numbers.

Watch Video Solution

18. Find the terms

Watch Video Solution

1 + 1/2 + + + … → n
1

4

1

8

https://dl.doubtnut.com/l/_oAGSHOp67XjU
https://dl.doubtnut.com/l/_ukoXb3d4890v
https://dl.doubtnut.com/l/_et1ioQflmLnl


19. Find the sum of n terms of the series

Watch Video Solution

(a + b) + (a2 + 2b) + (a3 + 3b) + .... .

20. Find the sum of n term so the G.P.  ………

Also find the 8th term of the G.P.

Watch Video Solution

√7, √21, 3√7

21. Find the sum to n
 terms of the sequence, 8, 88, 888,

8888 . . . .

Watch Video Solution

https://dl.doubtnut.com/l/_9HrUpT4Bi02Q
https://dl.doubtnut.com/l/_8aY7b7YQNyx4
https://dl.doubtnut.com/l/_W16v32vccWGc


22. How many terms of the series 

 must be taken to meke 3280?

Watch Video Solution

1 + 3 + 32 + …

23. Find the value off 

Watch Video Solution

10

∑
k= 1

(2 + 3k)

24. Evaluate: 

Watch Video Solution

n

∑
r= 1

(3r − 2r)

https://dl.doubtnut.com/l/_MTsAbp7qUr56
https://dl.doubtnut.com/l/_DPEqQ1feHKWu
https://dl.doubtnut.com/l/_PPPSeW168rLv


25. If 
be respectively the sum of n, 2n and 3n

terms of a G.P., prove that 

Watch Video Solution

S1, S2andS3

S1(S3 − S2) = S1(S2 − S1)2

26. If f is a function satisfying f(x+y)=f(x) f(y) for all x,y

N such that f(1)=3 and f(1)+f(2)+…+f(n)=120, find the

value of n

Watch Video Solution

×

∈

27. If a,b,c,d be in G.P. show that + +

= .

Watch Video Solution

(b − c)2 (c − a)2

(d − b)2 (a − d)2

https://dl.doubtnut.com/l/_HZc6dvHiTQxF
https://dl.doubtnut.com/l/_B4DeGaL7Pb9O
https://dl.doubtnut.com/l/_cJmfIxaOpTEq


28. If a, b, c and d are in G.P. show that

.

Watch Video Solution

(a2 + b2 + c2)(b2 + c2 + d2) = (ab + bc + cd)2

29. If  are in G.P. and , then (a) 

 (b)  (c)  (d)

none of these

Watch Video Solution

x, y, z ax = by = cz

log ba = loga c logc b = loga c logb a = logc b

30. If then show

that a, b, c and d are in G.P.

= = (x ≠ 0),
a + bx

a − bx

b + cx

b − cx

c + dx

c − dx

https://dl.doubtnut.com/l/_cJmfIxaOpTEq
https://dl.doubtnut.com/l/_x5kJgo7W2Byy
https://dl.doubtnut.com/l/_43wtAteY9qQl
https://dl.doubtnut.com/l/_CprQWK7zU71L


Watch Video Solution

31. If 
 are different real numbers such

that: 

, then show that 
and 
are in G.P.

Watch Video Solution

a,  b,  c,  d and p

(a2 + b2 + c2)pI2 − 2(ab + bc + cd)p + (b2 + c2 + d2) ≤ 0

a,  b,  c d

32. Let  are roots of equation  and 

 are roots of equation  If 

(taken in that order) are in geometric progression then

 is equal to (A)  (B)  (C)  (D) 

Watch Video Solution

a, b x2 − 3x + p = 0

c, d x2 − 12x + q = 0. a, b, c, d

q + p

q − p

5

7

15

17

17
15

7
5

https://dl.doubtnut.com/l/_CprQWK7zU71L
https://dl.doubtnut.com/l/_ZMlzGUu0BhbW
https://dl.doubtnut.com/l/_u4k5ozvv2Mjd


33. If p, q, r are in G.P. and the equations,

and have a

common root, then show that , , are in A.P.

Watch Video Solution

px2 + 2qx + r = 0 dx2 + 2ex + f = 0

d

p

e

q

f

r

34. What will Rs. 500 amounts to in 10 years after its

deposit in a bank which
 pays annual interest are 10%

compounded annually?

Watch Video Solution

https://dl.doubtnut.com/l/_u4k5ozvv2Mjd
https://dl.doubtnut.com/l/_pI7agdCsygW4
https://dl.doubtnut.com/l/_pDLBmnGJkQll


35. A manufacturer reckons that the value of a machine,

which costs him Rs.
 15625, will depreciate each year by

20%. Find the estimated value at the end
of 5 years.

Watch Video Solution

36. A person writes a letter to four of his friends. He
asks

each one of them to copy the letter and mail to four

different persons
 with instruction that they move the

chain similarly. Assuming that the chain
is not broken and

that it costs 50 paise to mail one letter. Find the amount

spend on the postage when 8th set of letter is mailed.

Watch Video Solution

https://dl.doubtnut.com/l/_wFVvxDcmvvg4
https://dl.doubtnut.com/l/_cxd3EdhF1scI
https://dl.doubtnut.com/l/_arhbtGjCmavv


37. Insert seven geometric means between 2 and 162 .

Watch Video Solution

38. Find the value of 
so that 
may be the

geometric mean between  and .

Watch Video Solution

n
an+ 1 + bn+ 1

an + bn

a b

39. The value of x + y + z is 15 if a, x, y, z, b are in A.P. 

while the value of  if a, x, y, z, b are 

in H.P. the value of a and b are

Watch Video Solution

+ + + is
1

x

1

y

1

z

1

z

5

3

https://dl.doubtnut.com/l/_arhbtGjCmavv
https://dl.doubtnut.com/l/_ZVOhUZ5eU6jG
https://dl.doubtnut.com/l/_qVmcFVT9dzy6


40. If  prove that 

Watch Video Solution

x > 0 x + ≥ 2
1

x

41. Prove that the product 
 geometric means between

two quantities is equal to the nth power of 
 geometric

mean of those two quantities.

Watch Video Solution

n

a

42. If the A.M. of two positive numbers 
 is

twice their geometric mean. Prove that :

Watch Video Solution

aandb(a > b)

a : b = (2 + √3) : (2 − √3).

https://dl.doubtnut.com/l/_xD0Z7B0XrThy
https://dl.doubtnut.com/l/_NvnRlmczHf5G
https://dl.doubtnut.com/l/_P3oLTn10SqwM


43. If 
are in A.P. and 
are in G.P., then show

that 

Watch Video Solution

a, b, c, d x, y, z

xb− c .
y
c−a .

z
a− b

= 1.

44. If the pth, qth, rth, and sth terms of an A.P. are in G.P., t

hen 
 are in
 a. A.P. b. G.P. c. H.P. d. none

of these

Watch Video Solution

p − q, q − r, r − s

45. If 
 terms of an A.P. and G.P. are both 


respectively show that 

pth,  qth,  and rth

a,  b and c ab− cbc−aca− b = 1.

https://dl.doubtnut.com/l/_P3oLTn10SqwM
https://dl.doubtnut.com/l/_I9k9AY87pqMi
https://dl.doubtnut.com/l/_U1pKxlkV9hOC
https://dl.doubtnut.com/l/_ZNBntjairism


Watch Video Solution

46. If 
are in A.P., prove that the following are also in

A.P.
 (i) 
 (ii) 
 (iii) 


 (iv)


 (v)

Watch Video Solution

a, b, c

, , ,
1

bc

1

ca

1

ab
b + c, c + a, a + b

a( + ), b( + ), c( + )
1

b

1

c

1

c

1

a

1

a

1

b

a2(b + c), b2(c + a), c2(a + b)

, ,
1

√b + √c

1

√c + √a

1

√a + √b

47. If  and  are in G.P. show that 

 are in A.P.

Watch Video Solution

ax = by = cz a, b, c

, ,
1

x

1

y

1

z

https://dl.doubtnut.com/l/_ZNBntjairism
https://dl.doubtnut.com/l/_2ahBoIQZzecg
https://dl.doubtnut.com/l/_33PHCW0ZCCmC


48. If  are in HP, then x,y, z are in

Watch Video Solution

, y,
x + y

2

y + z

2

49. If distinct numbers x,y,z are in G.P. and

 are in A.P., prove that .

Watch Video Solution

, ,
1

x + a

1

y + a

1

z + a
a = y

50. If a, b, c are in A.P., b, c, d are in G.P. and 
are

in A.P.
prove that a, c, e are in G.P.

Watch Video Solution

, ,
1

c

1

d

1

e

https://dl.doubtnut.com/l/_G4SdbSnHrc7d
https://dl.doubtnut.com/l/_GT3qNXiT8N0N
https://dl.doubtnut.com/l/_VcnmyrBJ6OcI
https://dl.doubtnut.com/l/_FjksCH8Mi6Ry


Exercise

51. If a, b, c are in A.P., b, c, d are in G.P. and 
are

in A.P.
prove that a, c, e are in G.P.

Watch Video Solution

, ,
1

c

1

d

1

e

52. If three positive numbers a, b, c are in A.P. and 

 also in A.P. , then

Watch Video Solution

, ,
1

a ∘

1

b2

1

c2

1. Find the 10th term of the G.P. 5, 25, 125, ... . Also find its

nth term.

https://dl.doubtnut.com/l/_FjksCH8Mi6Ry
https://dl.doubtnut.com/l/_bKu7ACS1sgCm
https://dl.doubtnut.com/l/_00BSUcVYSUQm


Watch Video Solution

2. Find: the 8th term of the G.P. 

Watch Video Solution

0. 3, 0.03, 0.012,

3. Find the and terms of the G.P. , ,

Watch Video Solution

20th nth 5
2

5

4
,

.

.

.
5

8

4. Find the term of a G.P. whose 8th term is 192 and

the common ratio is 2.

Watch Video Solution

12th

https://dl.doubtnut.com/l/_00BSUcVYSUQm
https://dl.doubtnut.com/l/_UAYAW0iEAof0
https://dl.doubtnut.com/l/_8J789FLhkr7R
https://dl.doubtnut.com/l/_jsFCdAfEqYJG


5. Which term of the geometric sequence:

Watch Video Solution

2√3, 6, 6√3, …. . is1458?

6. Which term of the G.P.: 

Watch Video Solution

 √3, 3, 3, √3, is 729?

7. Which
 term of the G.P., 2, 8, 32, . . . up to n terms in

131072?

Watch Video Solution

https://dl.doubtnut.com/l/_rcu2ngxOaUrA
https://dl.doubtnut.com/l/_rccoGrS2QpvD
https://dl.doubtnut.com/l/_4a7VFxgyeIZ0
https://dl.doubtnut.com/l/_NBczLs15N5uX


8. Which term of the progression 0.004,0.02,0.1,… is 12.5?

Watch Video Solution

9. Which term of the G.P.: 

Watch Video Solution

, , is ?
1

3

1

9

1

27

1

19683

10. Which term of the geometric sequence:

Watch Video Solution

, − , 1, …. . Is64?
1

4

1

2

https://dl.doubtnut.com/l/_NBczLs15N5uX
https://dl.doubtnut.com/l/_iRIBBe1tIrpr
https://dl.doubtnut.com/l/_RjMqr563YZ9h


11. How many terms are there in the G.P.

Watch Video Solution

0.03, 0.06, 0.12, …. . , 3.84?

12. If 5th nd 8th of a G.P. be 48 and 384 respectively. Find

the G.P. if term of G.P. are real numbers.

Watch Video Solution

13. If the 6th and 10th terms of a G.P. are 

respectively. Find the G.P. if its terms are real numbers.

Watch Video Solution

and
1

16

1

256

https://dl.doubtnut.com/l/_gnHWcLO1Hu4j
https://dl.doubtnut.com/l/_ZopG4TpvJN71
https://dl.doubtnut.com/l/_8Wb8V0qqzx1Z


14. If the pth, th, rth terms of a G.P. are x, y, z respectively,

prove that .

Watch Video Solution

xq−r. yr−p. zp−q = 1

15. If 5th, 8th, and 11th terms of a G.P.
 are 

respectively, prove that 

Watch Video Solution

p,  q and s

q2 = ps.

16. If the , and terms of a G.P. are x, y and z,

respectively. Prove that x, y, z are in G.P.

Watch Video Solution

4th 10th 16th

https://dl.doubtnut.com/l/_Hd0rrexvaelk
https://dl.doubtnut.com/l/_x16wR32Mt9P5
https://dl.doubtnut.com/l/_JiePEEDdSTWx


17. The term of a G.P. is square of its second term, and

the first term is . Determine its term.

Watch Video Solution

4th

3 7th

18. in a G.P (p+q)th term = m and (p-q) th term = n , then

find its p th term

Watch Video Solution

19. The product of three consecutive terms of a GP Is -64

and the first term is four times the third. Find the terms.

Watch Video Solution

https://dl.doubtnut.com/l/_nLklz9YPN6s5
https://dl.doubtnut.com/l/_66s6R9mp5qiN
https://dl.doubtnut.com/l/_Vur2Vhs8mWSJ


20. Find a G.P. for
 which sum of the first two terms is


and the fifth term is 4 times the third
term.

Watch Video Solution

−  4

21. Find the three numbers in G.P. , whose sum is 13 and

the sum of whose squars is 91 .

Watch Video Solution

22. The sum of first three terms of a G.P. is 13/12 and their

product is
-1. Find the G.P.

Watch Video Solution

https://dl.doubtnut.com/l/_kli4vIaE3KKy
https://dl.doubtnut.com/l/_bTEYmX2vKcaN
https://dl.doubtnut.com/l/_5ohZWA3TLnUm


23. The sum of first
three terms of a G.P. is 16 and the sum

of the next three terms is 128.
 Determine the first term,

the common ratio and the sum to n terms of the GP.

Watch Video Solution

24. The first term of a G.P. is 1. The sum of the third
term

and fifth term is 90. Find the common ratio of G.P.

Watch Video Solution

25. Three numbers whose sum is 15 are in A.P. If they are

added by 1,4 and 19 respectively, they are in GP. The

numbers are

https://dl.doubtnut.com/l/_C64pd84tusRq
https://dl.doubtnut.com/l/_TvKsYhROwhIg
https://dl.doubtnut.com/l/_Ss1mwxoPIMIl


Watch Video Solution

26. The sum of three numbers in G.P., is 56. If we subtract

1,7,21 from those numbers in that order, we obtain an

arthimatic progression. Find the numbers.

Watch Video Solution

27. Find three numbers in G.P. whose sum is 52 and the

sum of whose
products i pairs is 624.

Watch Video Solution

https://dl.doubtnut.com/l/_Ss1mwxoPIMIl
https://dl.doubtnut.com/l/_SB1umTeB7lCI
https://dl.doubtnut.com/l/_IPNA1ME5nOCc


28. From thre numbers in G.P., other three numbers in G.P.

are subtracted and the remainder are also found to be in

G.P. Prove that the three sequences have the same

common ratio.

Watch Video Solution

29. Find the sum of indicated terms of each of the

following geometric progression: 1,2,4,8,…….,upto 12 terms

Watch Video Solution

30. Find the sum of indicated terms of each of the

following geometric progression: 1, , , , …. , n
1

3

1

9

1

27

https://dl.doubtnut.com/l/_O2sxAmOQM1Mo
https://dl.doubtnut.com/l/_yrbYPPHUsdJQ
https://dl.doubtnut.com/l/_OcJCqiI1Hite


terms

Watch Video Solution

31. Find the
sum to indicated number of terms in each of

the geometric progressions : 0.15, 0.015, 0.0015, . . . , 20

terms.

Watch Video Solution

32. Find the sum of indicated terms of each of the

following geometric progression:

 terms

Watch Video Solution

1, − , , − , . . , n
1

2

1

4

1

8

https://dl.doubtnut.com/l/_OcJCqiI1Hite
https://dl.doubtnut.com/l/_iFYFwbsO9xR9
https://dl.doubtnut.com/l/_331LtiDQd9pP


33. Find the sum of the following geometric progression:

1,3,9,27, to 8
terms.

Watch Video Solution

34. Find the sum of indicated terms of each of the

following geometric progression: 1,-3,9,-27, ….9 terms

Watch Video Solution

35. Find the sum of indicated terms of each of the

following geometric progression:

Watch Video Solution

x2, x4, x6, …, nterms(x ≠ ± 1)

https://dl.doubtnut.com/l/_2GD4Yxe3kqH5
https://dl.doubtnut.com/l/_p4bMtecb9JG1
https://dl.doubtnut.com/l/_GU3gl8fGYYLd


36. Find the sum to indicated number of terms in each of

the geometric progressions : terms 

Watch Video Solution

1, − a, a2 − a3,

.

.

.
n

( if a ≠ − 1)

37. Find the sum of indicated terms of each of the

following geometric progression: 

terms and 5 terms

Watch Video Solution

1 + + + …. , n
2

3
4
9

https://dl.doubtnut.com/l/_GU3gl8fGYYLd
https://dl.doubtnut.com/l/_pi1FnblHAozx
https://dl.doubtnut.com/l/_UDCkqN6Z7ikM


38. A G.P. has first term 729 and 7th term 64. Find the sum

of its first 7 terms.

Watch Video Solution

39. Find the sum of the products of the corresponding

terms of the sequences 2,4, 8, 16, 32 and 128, 32, 8, 2, .

Watch Video Solution

1

2

40. Find the sum of 
 terms of the sequence

Watch Video Solution

n

(x + )
2

, (x2 + )
2

, (x3 + )
2

,
1

x

1

x2

1

x3

https://dl.doubtnut.com/l/_cRIDhsCnLcFZ
https://dl.doubtnut.com/l/_GUdreygg8LIS
https://dl.doubtnut.com/l/_A8h3cGAnMaXD


41. Evaluate : 

Watch Video Solution

n

∑
k= 1

(2k + 3k− 1)

42. How many terms of the series  must

be taken to make 511 ?

Watch Video Solution

1 + 2 + 23 + …

43. How many terms of the G.P. 
 be taken

together to make 

Watch Video Solution

3, 3/2, 3/4,

?
3069

512

https://dl.doubtnut.com/l/_7Bkz8kmOr1RJ
https://dl.doubtnut.com/l/_RoVu2KhkIVbH
https://dl.doubtnut.com/l/_ZL4YLoI8nNVM
https://dl.doubtnut.com/l/_UkSKoyUWnaDt


44. The sum of some terms of G. P.
 is 315 whose first term

and the common ratio are 5 and 2, respectively. Find
 the

last term and the number of terms.

Watch Video Solution

45. A G.P. consists of an even
number of terms. If the sum

of all the terms is 5 times the sum of terms
 occupying

odd places, then find its common ratio.

Watch Video Solution

46. Sum up to n terms the series

Watch Video Solution

https://dl.doubtnut.com/l/_UkSKoyUWnaDt
https://dl.doubtnut.com/l/_PZECq7VjMYcj
https://dl.doubtnut.com/l/_W4e08ZMo8SX3


47. Find the sum of the following series:

Watch Video Solution

9 + 99 + 999 + →  n terms

48. The sum of the following series

 to n term is:

Watch Video Solution

4 + 44 + 444 + .......... .

49. Find the sum of the following series up to n terms:
(i)


 (ii) 5  +  55  +  555  +  . . .

. 6  + . 66  + . 666  + . . .

https://dl.doubtnut.com/l/_W4e08ZMo8SX3
https://dl.doubtnut.com/l/_8tIvlPC8SEKy
https://dl.doubtnut.com/l/_2augxaFl8TK0
https://dl.doubtnut.com/l/_xQc2lX2L56ss


Watch Video Solution

50. Evaluate upto 

Watch Video Solution

7 + 77 + 777 + ...... n

51. Find the sum of the following series:

Watch Video Solution

0. 6 + 0. 66 + 0. 666 →  n terms

52. Find the sum of the following series:

Watch Video Solution

0. 5 + 0. 55 + 0. 555 + →  n terms

https://dl.doubtnut.com/l/_xQc2lX2L56ss
https://dl.doubtnut.com/l/_tumFnsfrSTaI
https://dl.doubtnut.com/l/_jMGe3bxqOzcu
https://dl.doubtnut.com/l/_QHzUnIYJvNmh


53. Show that the ratio of the sum of first n terms of a
G.P.

to the sum of terms from 
to 
term is 
.

9873740001

Watch Video Solution

(n + 1)th (2n)th
1

rn

54. LetS be the sum, P the product, and R the sum of

reciprocals of n terms in a G.P. Prove that .

Watch Video Solution

P 2Rn = Sn

https://dl.doubtnut.com/l/_QHzUnIYJvNmh
https://dl.doubtnut.com/l/_u8gPChpnH0dj
https://dl.doubtnut.com/l/_z8QSwSw7MgFq


55. If a,b,c,d………are in G.P., then show that

 are in G.P.

Watch Video Solution

(a + b)2, (b + c)2, (c + d)2

56. If a,b,c,d………are in G.P., then show that

 are in G.P.

Watch Video Solution

(a − b)2, (b − c)2, (c − d)2

57. about to only mathematics

Watch Video Solution

https://dl.doubtnut.com/l/_2GcFcpqcDs8z
https://dl.doubtnut.com/l/_bwaoUZCgOi6Z
https://dl.doubtnut.com/l/_gCQTU3HIJ0t9
https://dl.doubtnut.com/l/_8g5Jm096FYWw


58. If 
 are in G.P. prove that:



 are in
 G.P.



 are in
 G.P.



are in
G.P.

Watch Video Solution

a, b, c, d

(a2 + b2), (b2 + c2), (c2 + d2)

(a2 − b2), (b2 − c2), (c2 − d2)

, ,
1

a2 + b2

1

b2 + c2

1

c2 + d2

59. If 
 are in G.P. prove that 


are in G.P.

Watch Video Solution

a, b, c

(an + bn), (bn + cn), (cn + dn)

60. If a,b,c are in G.P., then show that

W t h Vid S l ti

a(b − c)2 = c(a − b)2

https://dl.doubtnut.com/l/_8g5Jm096FYWw
https://dl.doubtnut.com/l/_0eFcqprxB5yN
https://dl.doubtnut.com/l/_LOmUha5imGVf


Watch Video Solution

61. If a,b,c are in G.P., then show that :

Watch Video Solution

(a2 − b2)(b2 + c2) = (b2 − c2)(a2 + b2)

62. If 
 are in G.P., then prove that 


are in A.P.

Watch Video Solution

a, b, c

logan, log bn, log cn

63. If 
 are in G.P., prove that:a, b, c

a(b2 + c2) = c(a2 + b2)

https://dl.doubtnut.com/l/_LOmUha5imGVf
https://dl.doubtnut.com/l/_XKE7zF0sW6R0
https://dl.doubtnut.com/l/_aBgzZvtW9bJA
https://dl.doubtnut.com/l/_qoOfbqjrex0s


Watch Video Solution

64. For what value of x, the number are in

G.P.?

Watch Video Solution

− , x, −
2

7

2

7

65. Show that the products of the corresponding terms of

the sequences a, and 

form a G.P, and find the common

ratio.

Watch Video Solution

ar, ar2,
.
.
., arn− 1

A, AR, AR2,
.
.
., ARn− 1,

https://dl.doubtnut.com/l/_qoOfbqjrex0s
https://dl.doubtnut.com/l/_CcjVETxTHWwu
https://dl.doubtnut.com/l/_oT16R2MYPGMU


66. A person has 2
 parents, 4 grandparents, 8 great

grandparents, and so on. Find the number of
 his

ancestors during the ten generations preceding his own.

Watch Video Solution

67. The number of bacteria in a certain culture doubles

every hour. If
 there were 30 bacteria present in the

culture originally, how many bacteria
 will be present at

the end of 2nd hour, 4th hour and
nth hour?

Watch Video Solution

https://dl.doubtnut.com/l/_uEcMDXAYufYF
https://dl.doubtnut.com/l/_i9VQTSLsZJkc


68. A man deposited Rs 10000 in a
bank at the rate of 5%

simple interest annually. Find the amount in 
 year

since he deposited the amount and also
 calculate the

total amount after 20 years.

Watch Video Solution

15th

69. Shamshad Ali buys a scooter for Rs. 2200. He pays Rs.

4000 cash and
 agrees to pay the balance in annual

instalments of Rs. 1000 plus 10% interest
 on the unpaid

amount. How much the scooter will cost him?

Watch Video Solution

https://dl.doubtnut.com/l/_Q4wqy7TOP51f
https://dl.doubtnut.com/l/_1Btu2tDgCiQq


70. A farmer buys a used tractor for Rs. 12000. He pays Rs.

6000 cash and
 agrees to pay the remaining balance in

annual instalments of Rs. 500 plus 12% interest
 on the

unpaid amount. How much the tractor cost him?

Watch Video Solution

71. Insert 5 geometric means between 16 and 

Watch Video Solution

.
1

4

72. Insert two number between 3 and 81 so that the

resulting sequence is G.P.

Watch Video Solution

https://dl.doubtnut.com/l/_mwtgB6GnRmgB
https://dl.doubtnut.com/l/_a33wrhsuXmHe
https://dl.doubtnut.com/l/_EMExmaHd4dWF


73. Insert three
 numbers between 1 and 256 so that the

resulting sequence is a G.P.

Watch Video Solution

74. Insert six G.M. ' s between  .

Watch Video Solution

and
8

27

−81

16

75. The sum of two numbers is 6 times their geometric

means, show that numbers are in the ratio

.

W t h Vid S l ti

(3 + 2√2) : (3 − 2√2)

https://dl.doubtnut.com/l/_EMExmaHd4dWF
https://dl.doubtnut.com/l/_kjFpGIhp7CNA
https://dl.doubtnut.com/l/_KREo4o9E9ngp
https://dl.doubtnut.com/l/_qNqTxdsOidbb


Watch Video Solution

76. If odd number of G.M.\'s are inserted between two

given quantities a and b, show that the middle G.M.= 

Watch Video Solution

√ab

77. If A.M. and GM.
of two positive numbers a and b are 10

and 8, respectively find the numbers.

Watch Video Solution

78. If A and G be A.M. and GM., respectively between two

positive numbers, prove that the numbers are

https://dl.doubtnut.com/l/_qNqTxdsOidbb
https://dl.doubtnut.com/l/_xIxqZzSBLreK
https://dl.doubtnut.com/l/_nMqyavWwin6j
https://dl.doubtnut.com/l/_SDiNogASsalu


.

Watch Video Solution

A ± √(A + G)(A − G)

79. If A.M. and G.M. between two numbers is in the ratio


 then prove that the numbers are in the ratio 

Watch Video Solution

m : n

(m + √m2 − n2) : (m − √m2 − n2)

80. If one G.M., G and two A.M's p and q be inserted

between two given numbers, prove that 

Watch Video Solution

G2 = (2p − q)(2q − p)

https://dl.doubtnut.com/l/_SDiNogASsalu
https://dl.doubtnut.com/l/_BapgJZ9ZrD5U
https://dl.doubtnut.com/l/_DOfOKwMCMbc7


81. If one A.M. A and two G.M.\'s p and q be inserted

between two given numbers, shwo that 

Watch Video Solution

+ = 2A
p2

q

q2

p

82. If a is the A.M. between  the G.M. between a

and c, then show that  are in A.P.

Watch Video Solution

b and c, b

, ,
1

a

1

c

1

b

83. If 
 are pth, qth, and rth terms, respectively,

of an A.P. nd also of a
G.P., then 
is equal to


b. 0 c. 1 d. none of these

Watch Video Solution

x, y, andz

xy−zyz −xzx−y

xyz

https://dl.doubtnut.com/l/_DK6U4wX0thjV
https://dl.doubtnut.com/l/_X62mC4JhAaax
https://dl.doubtnut.com/l/_42NdbfraVMf3


Watch Video Solution

84. An A.P. and a G.P. of positive terms have the same first

term and the sum of their first, second and third terms

are respectively,  and 2. Show that the sum of their

fourth terms is 

Watch Video Solution

1,
1
2

19
2

85. Let  is a fixed real number and

. If  are in A.P., show that

 are in A.P.

Watch Video Solution

a(a ≠ 0)

= =
a − x

px

a − y

qy

a − z

rz
p, q, r

, ,
1

x

1

y

1

z

https://dl.doubtnut.com/l/_42NdbfraVMf3
https://dl.doubtnut.com/l/_CPRescfiTU0I
https://dl.doubtnut.com/l/_0LortK1sEriq
https://dl.doubtnut.com/l/_sKjINnO3r8bt


86. about to only mathematics

Watch Video Solution

87. If a,b,c,d be in G.P. and , prove that 

 are in A.P.

Watch Video Solution

ax = by = cz = dw

, , ,
1

x

1

y

1

z

1

w

88. If reciprocals of  are in A.P.,

prove that  are in G.P.

Watch Video Solution

(y − x), 2(y − a), (y − z)

x − a, y − a, z − a

https://dl.doubtnut.com/l/_sKjINnO3r8bt
https://dl.doubtnut.com/l/_1O5njX7xc8Am
https://dl.doubtnut.com/l/_QB1uiBCDW1iQ


89. If a series of numbers be in G.P., show that their

logarithms are in A.P

Watch Video Solution

90. If a,b,and c are in A.P ., P,q and r are in H.P and ap,bq

and cr are in G.P., then  is equal to

Watch Video Solution

+
p

r

r

p

91. a,b,x are in A.P., are in G.P. and a, b, z are in H.P. then:

Watch Video Solution

https://dl.doubtnut.com/l/_vVxoS7zxybwg
https://dl.doubtnut.com/l/_qk15kPixE2sJ
https://dl.doubtnut.com/l/_JGYFqh36E0YM
https://dl.doubtnut.com/l/_TWqzyYvhcjw1


92. If x,1,z are in A.P. x,2,z are in G.P., show that 

are in A.P.

Watch Video Solution

, ,
1

x

1

4

1

z

https://dl.doubtnut.com/l/_TWqzyYvhcjw1

